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1. Three of the following four attributes

[e)

characterise research. Identify the one
which is not an attribute of research

(A) Research is purposive

(B) Findings of research can be
generalised for all contexts

(C) Research is logical and objective

(D) Research is based on accurate data

Match the following :

(a) Experimental (p) Continuity of

Method observations
over time
(b) Descriptive (9) Internal

Method criticism of data
(c) Historical (r) Stratified
Method sample
(d) Longitudinal (s) Equivalence of
Method groups

(A) (aq), (br), (cs) and (dp)
(B) (br), (cq), (dp) and (as)
(C) (cp), (da), (as) and (br)

(D) (dq), (cp), (bs) and (ar)

1.

208 I TroofoedS’ SuTeegETen $S88
OFET0. BOFET 00 ST OG0B0

(A) 2080 e0Es 08200

(B) 205655 $0T0ks eS0T
FrOE3EB0ESEN

(C) 208¢s ooy %o, oxto

(D) 208°¢s B SToto P wpond
0008

208 %39 3HHBV0G

| il
(@) BAFEGd  (p) e8seRgsRd”

DS SOB500

(b) 53568 (0) o ot

0%,
(C) TOEEHEd (r) 205 S

(d) Bg0sgd  (8) Moo o

(A) (aq), (br), (cs) 0> (dp)
(B) (br), (cq), (dp)o0axo (as)
(C) (cp), (da), (as) o000 (br)
(D) (da), (cp), (bs) o000 (ar)
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3. Reorganise the following in an

[e)

appropriate sequence
(i) Analysis and interpretation of data
(ii) Preparation of Research Report

(iii) Identification and selection of a

problem
(iv) Formulation of a research design
(v) Collection of data

(A) (iii), (iv), (), (i) and (v)

(B) (iii), (iv), (i), (v) and (ii)

(C) (iii), (v), (iv), (i) and (ii)

(D) (iii), (iv), (v), (i) and (ii)

. One of the following behaviour does not

confirm to research ethics. ldentify the

behaviour

(A) Copying passages from a book along

with acknowledgement

(B) Arriving at a generalisation which the
researcher feels as truth even though

data do not support it

(C) Formulating hypothesis which is not

confirmed by review of literature

(D) Using statistical techniques in

qualitative research

3. 508 55008 S0 3 e5085)08
(i) om0 D35, T
(i) 565%s J6E Hax>rd
(iii) 550105 1803, Do
(iv) 208 Berds dogso
(V) &Sorod o5ses
(A) (iii), (iv), (i), (i) 500050 (V)
(B) (iii), (iv), (i), (v) 508030 (ii)
(C) (iii), (v), (iv), (i) 2000 (ii)
(D) (iii), (iv), (v), (i) 080 (ii)
4. 200 BEITIOS’ 6563 BOFED DHE JoNBTHS
©R0MOEIPOL ¢
(A) a8 Wogo &ood T ITROSO
S)Bgsen Do) S¥e DGO
(B) csmodo $5000i8:esE 5080 T
B30 78 T TroedsceT
BdTHoWE
(C) Firsg DA SFGICBI (@ER)S80
Errodoico
(D) 10e7E $508GHE” TromgS TR BB

=7

€20QAPAOCE0
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5. One of thefollowing forums will be directly

relevant for administrative actions
(A) Seminar
(B) Conference
(C) Workshop
(D) Symposium
6. Quality of a good thesis is judged by three
of the following four qualities

(i) Coherence across objectives and

findings

(i) Consistency between data, analysis

and interpretation
(iii) A comprehensive review of literature

(iv) Number of references cited in the

thesis
(A) (i), (i) and (iii)
(B) (i), (i) and (iv)
(C) (i), (iii) and (iv)

(D) (i), (iii) and (iv)

lo

5020080008

(A) 22056
(B) sy
(C) 55,25

(D) 202Fegomo

. 85 GG ?o@oéé EUSSEVEC 208 T

BE37erE” $a7Goeds’ Aossowsiiy
(i) oo $OTro Jogss Fods
(il)  cSomoso, JFes, TogErsTre S0ty RO
(i) D2resg S0y O
(iv) eros Tgod’ 287 %) Sopho Sie
bogpé
(A) (i), (if) Do0605 (iii)
(B) (i), (ii) 30801 (iv)
(C) (i), (iii) 3800 (iv)

(D) (i), (iii) 25605 (iv)
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7. Teaching is best described as a

[e)

(A) Occupation

(B) Vocation

(C) Profession

(D) Career

The chief objective of teaching is

(A) Transmission of existing knowledge

(B) Stimulate curiosity of students to

discover knowledge

(C) Help children to do well in

examinations

(D) To facilitate research

A “Good” learner is one who

(A) Listens attentively to teachers

(B) Has a questioning frame of mind

(C) Spends considerable time in library

(D) Prepares well for examination

(A) e&no (occupation)
(B) 2 (vocation)
(C) %y& (profession)

(D) B850 (career)

. TR BT 0 50

(A) ey ogard) BRPC0 WoKbeo

(B) ez 8087, ¢0 §%%0 dmgtied”

HBEFGe) e300

(C) 2058 Jorthe EX55H T eoierds

Segescso

(D) 20800 Fogpsio

. QI0PMOgGoR ©98T°5R050C)

(A) agrgoioons D2y IDEITRSS FEM

S
(B) 300 &oed $DAST e
(C) Tomrochos” NEadoiBand SPery Hesam™ed

(D) 5055 erm 2¢8o6dogei
[&]
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10. Identify any three factors which contribute | 10, (BerssosRs %5550 St Ko @0
to effective teaching

hleleinleled
(i) Art of communication (i) o (50 5
(if) Subject mastery (i) D50 P Fodso
(iii) Smart and handsome looks (i) 2O, woser Kbotco
(iv) Rapport with students (iv) g)@éd@m@séé@om@o

(A) (i), (i) and (iii)
(B) (i), (iii) and (iv)

(A) (i), (i) 500050 (iii)

(B) (i), (iii) 508050 (iv)

(C) (. (i and (iv) (C) (i), (i) 500605 (iv)

D) (ii), (iii) and (iv
(D) (i), (i) and (iv) (D) (i), (i) 300305 (iv)
11. Programmed instruction is based on the | 44 SIS BPEOP STEHED TTED0S

rinciples of learning which is known as
princip 9 57555550 RO 90T

A) Software learni
(A) Software learning (A) 50 egisso

(B) Motivation 5
(B) (e

(C) Reinforcement
(C) dD3gywo

D i i
(D) Systematic programming (D) ey Siyatoseno

12. Sentence completion tests are objective | 12, % rde e HY BBt Do OFHBE

type of tests which measure DES3

(A) Recognition ability (A) 8o TG0

(B) Sentence knowledge (B) =55egio

(C) Association skill (C) Dodgddeao

(D) Recall ability (D) &8N ghf BUNTD THogso
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Read the following passage and answer
question numbers from13t018:

Often, as | (Nehru) wandered from meeting to

meeting, | spoke to my audience of this India
of ours, of Hindustan and of Bharata, the old
Sanskrit name derived from the mythical
founder of the race.

Sometimes as | reached a gathering, a
great roar of welcome would greet me : Bharat
Mata Ki Jai — “Victory to Mother India’. | would
ask them unexpectedly what they meant by that
cry, who was this Bharat Mata, Mother India,
whose victory they wanted ? My question would
amuse them and surprise them, and then, not
knowing exactly what to answer they would
look at each other and at me. | persisted in my
questioning. At last a vigorous Jat, wedded to
the soil from immemorial generations, would
say that it was the dharti, the good earth of India,
that they meant. What earth ? Their particular
village patch, or all the patches in the district
or province, or in the whole of India ? And so
question and answer went on, till they would
ask me impatiently to tell them all about it. |
would endeavour to do so and explain that India
was all this that they had thought, but it was
much more. The mountains and the rivers of
India, and the forests and the broad fields,
which gave us food, were all dear to us, but
what counted ultimately were the people of
India, people like them and me, who were
spread out all over this vast land. Bharat Mata,
Mother India, was essentially these millions of
people, and victory to her meant victory to these
people. You are parts of this Bharat Mata, | told
them, you are in a manner yourselves, Bharath
Mata and as this idea slowly soaked into their
brains, their eyes would light up as if they had

made a great discovery.

[e)

S0 JTergd) WAJ 13 Boods 18 DI Mo (¢
DT T°OH0G

BB 2.8 8 500G 2.5 BERO DT &8 X998 = (AGT)
FHD 500 B2 30GAIT M8, PoERS K80,
DTETOS” B eSS BOTOYHGD V5§ D9 AHES
R0 TR0 TEBLFEO HBOD DTN

70 0 T D8I PO T D VTon
oS 5o & B e BarRoes T JSoBIL.
52 ITTTOS 0D, WEH 90 Desalbo Sy
& gPOBITEH DD T BEMHT. T TH0od
BE0D03 (5% B0 Ealrotith. T° (%) T Jod
NoBo0l, e85 SO0, ST Do Do
DINE” SO WPOTE T e STTER UKo, T
D) BT, 0 T° (5% CEHBTR G0, D508
2.8 Gy 0TOCo 235, 9008 TPOOKIOC HEHT LT
2P @o&b@g?f@ ENTPCD ‘PP @9 DRTPE0
DD, 2R0K0K0ENND OGATT® & LGB0 ©OLTD.
D0 B 7 W EB IS 7 Q B 0BT, THR0BLT,
D ePEBREBOOBLT €:9) B GTTTER 2 JE° RHEHRT
B3R VB0, WRNOS ) eSIHon® Ty D80
DIBGOM BP0 BGROBITET. B> (IAKHYO
VTR, GTEBE0E 3D, ©9b, TSI,
T ©0BT0E] T N ST . GrEBREes )
DETFOT, HEXOT, WCEHOT, D05 SodE] JTERD
B0ty Feror ey o8 QOLRTN. T ©)oedE0]
B0 TEB (Desed, B8 DTTGID LA ToD
€ TOP0ed, AEPoed TRY. BB BG €03 B OFTD
50300, eTEBITHE 3000 9063 55 (Hes00csO8 e20ho.
PSERTHS” 2T DD, 2ESEOT Q0 GPEHES. S
56" 00T T R0ETE T Fabessedd OF el

733y SO S35, 51620 T S50 DOAFEa0.
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13. Victory to ‘Bharat Mata’ means, victory to
(A) People of the village
(B) All the people of India
(C) Millions of people
(D) Freedom fighters of India

14. What was the great discovery made by the
villagers ?

(A) We are all Bharat Mata

(B) Mother Earth is Bharat Mata

(C) Mountains, rivers, forests and fields
are Bharat Mata

(D) The good earth of India is Bharat Mata

15. How did people greet Nehru when he went
to address them ? They greeted him with
(A) Bharat Mata Ki Jai
(B) Victory to Mother India
(C) Jai Bharat Mata Ki
(D) Victory to Bharat Mata

16. Who was the person that gave the reply :
Bharat Mata means “Dharti” ?

(B) aJat
(D) Nehru himself

(A) everybody
(C) astranger

17. When the villagers were questioned on
their concept of ‘Dharti’, one of the
following answers was not included

(A) Village patch

(B) All patches of the district
(C) Mother Earth

(D) Whole of India

18. Which part of Dharti gives us food ?
(A) Mountains (B) Rivers
(C) Forests (D) Broad fields

lo

13.

14.

15.

16.

17.

18.

5758 55 & B @90 wao D63

(A) 0 PeoH

(B) 758 Heswocsdd

(C) oFd HesosH

(D) s o Fores e

000 S50, 3y A3t DAe3 2

(A) 27585 5778 9063 5oDB00EE[80

(B) Sr8yatrdd groBard

(C) D&sTren, S50, e, FPePed
GTEBETE

(D) 758 B B0 eTEBEITS

(230550800 (HHoNoWEIS VT

DYITC T ABHITR B0 DD

(A) ersSsreia

(B) 2506 o0 %0656 godsai®

(C) B8erss srerd

(D) 256 ex gros Sro

&R0 N8 063 ‘BT’ €90 SATTTR0 Dy 5§
(A) B3 eyor (B) e5ewes

(C) esesonmes (D) oorad

BP0 @063 DD BGADIIE 0 eedd
308 T3S’ 2,563 S50

(A) @08 grio

(B) 2D g grrod)

(C) arsrs

(D) 0080 8758 B0

5095 Bod) e g0 DB 9

(A) Sszren

(B)

(C) exsdHeo
(D) 7o draren

e300
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19. Match the following activities :
I ]

(@) Print media  (p) Kuchipudi

Dance
(b) Electronic (g) Telugu
media News Paper

(c) Folk media (r) Tele conferencing
by IGNOU

(d) Mass media (s) Street plays

A) (aq) (br) (cs) (dp

p) (ca) (ds

) (dp) (cs

) (cp) (ds

QO
=
T3
-

(A) ( )
(B) ( )
(C) ( )
(D) ( )

Q
o]
S~
—_

O

-

20. 2 GB RAM, 3MB RAM, are common terms
used while checking on the efficiency of a
computer. RAM means

(A) Read All Materials
(B)
(C)
(D)

Random Access Materials
Random Access Memory
Reliable Access Memory

21. You need to send an executive summary
of 12 pages of a report of 120 pages on
ICT in college education to 20 experts in
the field by E-Mail. Identify the appropriate
sequence from the following steps

() E-MailId
(ii) Attachment

(iii) Send

(iv) Compose

(A) (i), (i), (iii) and (iv)

(B) (iv), (i), (ii) and (iii)

(C) (iii), (iv), (i) and (ii)

(D) (iv), (i), (i) and (iii)

[e)

10

19.

20.

21,

od SRS RBISV0G

| Il

(a) sogerarsires (p) UG D50

(b) WEEreren (q) BerdTT NS

(c) esssirgires () IGNOU
£385%5000h0

(d) adirggires  (s) TS

(A) (aq), (br)
(B) (ar), (bp)
(C) (aq), (br)
(D) (aq), (br), (cp), (ds)

2 GB RAM, 3MB RAM 952 §oo“gy°§e35
0T sy 908D Voesgs” TE e
$6e5e0. RAM e9063

(A) 8& esS 06300508,

(B) orocsSy gy 20edoandy

(C) TPotsss aiT3yR DoRad

(D) Bd0mend aXEyo Foad

)
)
)
)

A:\A
Q
O
~

Somo A" el s 120 o J0SE
12 %8 AEETRIS I B+ S0’ 20
35008 AYHEORD VY F-wod T HoTd.
308 FPTTre SP000G (E50°0 MOGoWots

(i) 3-20008 &

(i) eerSiooes

(iii) 2ok

(iv) Zo2%f
(A) (i), (ii), (iii) 080X (iv)
(B) (iv), (i), (i) 00030 (iii)
(C) (iii), (iv), (i) 30800 (ii)
(D) (iv), (ii), (i) So80w (iii)
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22. Information Technology is the generic
name performing the following functions

A) Data storage
B
C
D

Data retrieval

(A)
(B)
(C) Data communication
(D)

All of above

23. Information is stored in a computer in

A) Random Access Memory
B) CD-ROM
C) Read Only Memory

D) All of above

(A)
(B)
(C)
(D)

The best economic method of Data
Processing is

24,

(A) Batch processing

(B) Transaction processing
(C) Distributed processing
(D) Real time processing

25. Which of the following sources of data

can be classified as a primary source of
data ?

(A) Data available in UGC reports

(B) Data collected by interviews of UGC
experts

(C) Data available from socio-cultural
tables of census of India, 2011

(D) Data on Educated unemployment
available in Directorate of

Employment and Training

lo

11

22.

23.

24,

25.

208 (BATEITORd ATFET0w T°0) TGSE
306 ST

(A)
(B)
(C)
(D)

ET0%0 D00
3P0y HOA oS0

5T0%F (DI°EED

)

25

ForggeobS” ST 3o’ e B
A) ToESo 00730 R0

B

)
C) 6& e as5axd
D)

(
(B) & - esbdo
(
(

53

f’ e

Ger

o

200008 esd508 TPESIP HGH
A) ergS @Panoh
B
C

D

LTORE Powoh

(A) e
(B)
(C) &Qargl Dodoh
(D)

BOXS 30 Toh

80d SToE BHOE SToF @EY BB
505005GABE

(A)

(B)

Qb0 TDOEE wegodiy cSErodo

Q00ER JDEWO FOLIETS §© TG0
DIV oo

PSS e350eaRs, 2011 THrEE-Tro B
26350 500G egkEodly EoFo

70, 3EE VOT DO ST 0RO Ho0G
@2,55;300305 DTGH0BOPS 5060555(‘{0@&%

Q0200 C5TP0E0
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26.

27.

28.

[e)

External and internal criticism of data is a
standard measure engaged for validation

of data in

(A) Historical Research

(B) Philosophical Research
(C) Descriptive Research

(D) Experimental Research

Identify the parameter which does not
measure central tendency among the

following parameters
(A) Statistical mean
(B) Arithmetic mean
(C) Mode

(D) Average deviation

Which of the following is not a measure of

dispersion ?

(A) Quartile Deviation
(B) Standard Deviation
(C) Kurtosis

(D) Chi-square

12

26.

27.

28.

STOE0 A0, e, WOBES Dol 5+
2o58505828" @reds Tonro

(A) TOBE H05eES

(B) 857 H08¢0

(C) SPT8s508es

(D) BOTTEE508°es

200 3T°2E0E SoBab BEA S0 ST
heleleinleled

(A) Tropgs Bogishoo

(B) eos R0

(C) eroeto

(D) e Qoo

200 TIE TG00 B0 T2
(A) DBoTrod Jvevo

(B) @rxuoreds oo

(C) s

(D) 330
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29.

30.

31.

lo

The Universe for a research study
comprises of 60000 students from rural
and urban colleges, boys and girls,
students of various social groups. ldentify
the best method of sampling.

(A) Purposive sampling
(B) Stratified sampling
(C) Quota sampling

(D) Stratified random sampling

Identify the verbal test from the given
standard tests used in educational
research

(A) Make a Picture Story Test (MAPS)
(B) Koh’s Block Design Test
(C) Attitude scale

(D) Raven’s Progressive Matrices

Effective classroom communication of a
teacher depends upon three of the
following four qualities. They are

(i) Content mastery

(if) Clarity in language teaching

(iif) Consistency in presentation

(iv) Completing portions in time

(A) (i), (i) and (i) (B) (i), (ii) and (iv)
(C) (i), (iii) and (iv) (D) (i), (iv) and (i)

13

30.

31.

DA TP°22E D075 Dodd 60000 Ho0d
270 e7OZ0. BB (O HoD (sampling)
BES hSleletniele

(A)

€055 JeUsS BdBa0 (purposive
sampling)

208 PHBawso

(stratified sampling)

£ HADAOB0

(Quota sampling)

(D) 2058 oXresynE BHHADH0
(stratified random sampling)

Ao DOFEHE” EdADTAoD PERrES AEDG
TE DEBE 0G0t

(A) S50 555 BaIrt B 508 (MAPS)
8 erf &3S 80y

290 50

TS RS TGS

"3

(B)
(C)
(D)

BONS NOE" GarEabod) REroSsoBD &7
30508 B2 808 Teo Mered Sardoed P
SRS 00N

(i) dDed Jrocsso

(i) Somerang” oRs

(iii)  Jrorgo (©PeEsRE” Fods

(iv) 5% 55568 ooz e Jo§ Dabo

A) (i), (i) 558055 (i)

B) (i), (ii) o805 (iv)
C

D

(A) (
B) (
(C) (i), (iii) SoB0m> (iv)
(D) (iii), (iv) 08055 (i)
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32.

33.

34.

[e)

Three of the following four attributes of a
teacher will become barriers in effective
communication. Identify them

(i) Pronunciation of the teacher

(ii) Caste status of a teacher
iii) Facial expressions of the teacher
iv) Choice of words

)
)

A) (i), (i) and (i) (B) (ii), (iii) and (iv)
) (iii), (iv) and (i) (D) (i), (ii) and (iv)

Match the following behaviours of teachers
with their communication-type

(i
(i
(
(C

Behaviours Type

(a) Teacher asks a (p) Symbolic
question

(b) Teacher writesa  (qg) Digital
diagram on the
black board

(c) Teacher showsa  (r) Written
CD to children

(d) Teacher beckons (s) Oral

a student to draw a
graph on the black
board

q), (br), (cs) and (dp)
(ar), (bs), (cp) and (dq)
(as), (br), (cq) and (dp)
(ap), (bq), (cr) and (ds)

a
a

The technique adopted to find out the level
of acceptability of an individual by
members of a group is

(A) Personality testing

(B) Projective techniques
(C) Psychometry
(

D) Sociometry

14

32, (EBeriSooBand s HICes eIy
TP @@jﬁ@éﬁs DATCE GO, N

(i) &I mrgeiod esmdes
(il)  erorgesod Heo Foe

(|||; €32G500000) JoPEFIZe0
(iv) Sz dodg

(A) (i), (ii) So08axo (iii)

(B) (ii), (iii) 2008c%0 (iv)

(C) (iii), (iv) 080X (i)

(D)

D) (i), (ii) 08055 (iv)

33. 200 eIEroion EHEHE8 T°0
BTHEED DSBS O w3 DA

oSS 853
(@) egratocs  (p) BSSHE
(5%, e9ciormnesd
(b) Sgew D (q) Ge2eod
€TIROI00CE
SeohTeeso

(0) esrgryeiocsd
2O 2.8 0
BIPTE

(d) erorgobocs
§)G°§Q$ NSTVS
PSR
ACTDB0D N DI

(r) O ey

(s) 398

34. of $5075r0s) Sgigeo a8 $5580 é;ﬁo&@oﬁ)
@;oooé’) 20080855098 eodeofon St

(A) 558885508

(B) 855 d¢5soe0
(C) %oF JZemeds W3
(D)

D) Jroons o
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35.

36.

lo

Some of the following constraints are
faced by first generation learners in
college and university. ldentify them.

(i) Sub-optimal command over English
Language

(ii) Divergences in pronunciation of words
(iii) Not being pro-active in conversations
(iv) Not having proper height and weight
(A) (i), (i) and (iii)
(B)
(C)
(D)

B) (ii), (iii) and (iv)
C) (iii), (iv) and (i)
D) (iv), (i) and (ii)

There are 600 students in a college. 325
are boys and 275 are girls, each
represented by a big circle, out of which
50 boys and 40 girls are from rural areas,
represented by a small circle. Which of the
following diagram best represents the
distribution in the college ?

w( o)

O

O

(B)

OR

15

36.

295758000 QC505°Z;?6& Sy @5 oo
€502000. %639 GO0t

(i)
(i)
ii) (ooaa%“a\mef EoXPB0m &ocss TS50
)

SO/ BRDO eSS0 B8N0
T ol SRR AT

(i
(i

V) BASOB BT, ) 85 Fdeo
(A) (i), (if) Do0605 (iii)
(B) (ii), (iii) 558050 (iv)
(C) (iii), (iv) 080X (i)
(

D) (iv), (i) 08a%0 (ii)

2.8 S77od’ 600 JorghesTyd. 325 500
2P0, 275 5008 erdfen. ereol, erdSosd
2578, $)Bo BAVY. wreods 50 5008,
270508 40 5008 [rRoe PromrdS DoBTTE:.
D8 58°E W :sogo@s JorDotcio e0hod). 08
26708 FrFEd Ao TR oo
E3¢50y0% 560 28 ?

w( o)

O

(O (D

(B)

S
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For visually handicapped candidates : @3&@5%0 G DT §%0

36. &f DOFS JDQEEW 2eIEEW Tmodo e

36. Data in tables of a research report show (
oS .9, PEH HENY H8» 60 K008

that 20 out of 60 students in the first year Dwédgef 20 5008 ErOSED T, SeTEo

of B.A. class of a college are girls. On a 50O 2. @5595§ B 12 15308 Jargges

particular day of visit it is observed that 12 AOPesS095E3 90T 08 %308 erO8B5en
students are absent of whom 08 are girls. K;;;gomgo ;@ﬁoa_ 35S 5063 W@gm;
Attendance behaviour is poorer among girls 535230 (58S %woaoogom 00, B2 MOIED
than others. This observation is a case of HS 502000008 WoFore HBOWS).

A) ArS08 &80 (Deductive logic)

(A) Deductive logic

(B) Transductive logic
C

D

5100 88),0 (Inductive logic)

(A)
(B) er&eds g0
(C)

(C) Inductive logic D)

OIS B0

(D) Inferential logic 37. 575 AoEEnws ASEYD BT T

37. Identify any three common problems of 20350100 S00Ted B0k MHYotod
?lﬁtar.]ce education courses from the (i) wéémébﬂm@éggm@%o?@%m
ollowing :

. . : i OUSE BADOBIT TS 05D
() Study materials are not easily (i) ed oE® OB G R0

available EON es00sE PP
(ii) Study centres are not adequately (ii)) ewe ety e BT SrEEGyvo,
equipped

Sosfen BB gl SElstvonTate!
(iii) Academic guidance and counselling

by expert teams is inadequate (V) emgsos ERongaps SN Sonogo

(iv) There is no regular personal contact SeFaco

with teachers
(A) (i), (ii) and (iii)
(B) (ii), (i) and (iv)
(C) (iii), (iv) and (i) (C) (i), (iv) 308w (i)
(D) (

(A) (i), (ii) S005 (iii)

(B) (ii), (iii) 508050 (iv)

i), (i) and (iv) (D) (i), (i) 508050 (iv)
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38.

39.

40.

lo

Corporate Governance in Higher

Education means

(A) Governance of Colleges/Universities

by Corporate Houses (industries)

(B) Participation of university faculty in

governance of Colleges/Universities

(C) Inclusion of Corporate Houses as
members on governing councils of

Colleges/Universities

(D) Financing of Universities/Colleges by

Corporate Houses

The famous statement ‘Tolerance, Humanism
and Universal Reason’ are the values
symbolised by University Education was

made by

(A) Mahatma Gandhi
(B) Dr. D.C. Kothari
(C) Jawaharlal Nehru

(D) Rabindranath Tagore

Identify the pure discipline of knowledge

as against applied disciplines
(A) Medical Education

(B) Technical Education

(C) Management Education

(D) General Education

17

38.

39.

40.

5D eSS 557065 oS el
(A) FvTroon/FRN000ITos DOEFS
QIPesSIrg0 JTGIrONE0

ST T000 / PITTOOITo T3’
DT T 2e0B ETNTH0
Eogroen / JEATEATe JoE bo“g@e’)’s
0E00 CITeRI g DevsEso Syoiiko
EoEro00/ T ROITOS JOEE

éogm @Q§ QB0 EFGYo
D5790, DDG50, TT5esE 98 EPON0’ @D
DT DK BEETRO Dewdory UG THe
52Q058
(A) SoFaryrod
(B) . &.2.€0
(C) adoTd ez
(D) Do eri®d
SRRSO e T8 AN BRpH T
3;5 F°P
(A) Do
(B) o3& desg
(C) 20eia00e5 sy

(D) eoe s
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41. ICSSR means

(A) Indian Centre for Science and Society
Research

(B) Indian Council of Social Sciences
Research

(C) Indian Conference of Social Sciences
Research

(D) Indian Council for Science, Society
and Rehabilitation

42. NAAC means

(A) National Assessment and
Accreditation Council

(B) National Assessment and
Accreditation Centre

(C) National Aviation and Aeronautics
Centre

(D) National Accreditation and
Accountability Council

43. Of the total energy consumption in India,

domestic consumption is in the range of
(A) 10to 15 percent

(B) 25 to 40 percent
(C)

(D) 60 to 70 percent

40 to 60 percent

44. |dentify from the following the disease

which is independent of pollution
(A) Tuberculosis

(B)
(C)
(D)

Bronchitis

Peptic ulcer

Gastroenteritis

[e)

18

41.

42.

43.

44,

ICSSR e063
RGNS 2065 6 25y wob el 526
OGS TS e DS o 8206
FOGOIS S%90 €39 PG waye 8200
080508 TYS H6 S, Fwed wok
BEFDOEIIS

NAAC e0é3

(A) 58S eRd00eT 9ok BREINS TS
(B) 538 es00a00e5 2908 980 000
(C) 8S AS1RS @0k D&Tre3gy woead
(D) 3558 BEEIRS ok 9F0taddes TNS
rEB3¥0 IBo ISogBIABTN oS
PYTESHTmO0 DGR 52 HOHE” &0tod
(A) 10 200c 15 780

(B) 25 &00c 40 70

(C) 40 oo 60 720

(D) 60 Sooc 70 T°00

800 Ered” Teads vowogo 81 5
hlsleinleled

500

2c2edR (Foopsdao)

e3BSOG LDO0IOER DO

mé@j QO@@&%S
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45. ldentify the fossil fuels from the following | 45, a>ffy oo wonE22 (Global wa

cc?ntgbutlors to global warming 585035 28I Bore 50eE 2
oa .
(f.i oil () &g
(i) Gas (i) 9208
(iv) Bio-waste (iif) - Ses oy
(A) (i), (ii) and (iii) (V) & 558 qocimres
(B) (ii), (iii) and (iv) (A) (i), (i) S080x0 (iii)
(C) (iii), (iv) and (i) (B) (i), (iii) 508000 (iv)
(D) (i), (ii) and (iv) (C) (iii), (iv) 5080 (i)
(

D) (i), (i) 2008030 (iv)
46. 208 739 w3HNGVoG
| Il

46. Match the following :
I |

0 Hyaro oo ) Depeir 0 e ) ssose
Energy raw material SR B
(b) Solar Energy (9) Expensive per (b) a8 (@) e 55
unit cost PEY) DE)S
(c) Thermal Energy (r) Difficult to get (€) oSS (r) Soocs
raw materials QL0
(d) Nuclear Energy (s) Sustainable SoTrodoiEo
source SH'e
(A) (aq) (br) (cs) (dp) (d) @& dags (5) $0FNE
(B) (ar) (bs) (cp) (da) R
(C) (aq) (bs) (cp) (dr) (A) (aq), (br), (cs), (dp)
(D) (ar) (bp) (cs) (da) (B) (ar), (bs), (cp), (da)
C , (bs), ,(d
47. |dentify the chief sources of pollution from (©)(aq). (bs), (cp), (dn
the following : (D) (ar), (bp), (cs), (da)
(A) Autorickshaws, lorries and coal 47. §o&5°e368@cs"26§°m§>§§>6§°®:63 hleleinlele
operate.d trains (A) eeFoges, cbes, ﬁ@m&g@g
(B) Food, air and water (B) wwicio, w0, 50%2
(C) Uncovered sewage tracks, tank-beds (C) oorisen 82 93008 Tresses, 56 20 & 5

of stagnant ponds and public wells
DAY KOO, EsDeTiHed

(D) Hotels, hospitals and cremation
(D) SFeasd, esstobiBooo, B3¢0 Tedsen

grounds
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48.

49.

50.

51.

[e)

The slogan ‘A tree for each child’ was
coined for

(A) Social Forestry Programme

(B) Clean Air Programme

(C) Social Conservation Programme
(

D) Environmental Protection Programme

Five persons P, Q, R, S and T were
travelling in a car. There were two ladies
in the group. Of the three who knew car
driving, one was a lady. There was one
couple, of which only the wife could drive
the car. P is brother of S. Q, wife of S, drove
at the beginning. T drove at the end.

Who was the other lady in the group ?
(A) T

(B) S
(C) R
(D) Data inadequate

All the students are boys. All boys are
dancers. Which of the following inferences
definitely follows from the above two
statements ?

(A) All dancers are boys

(B) All boys are students

(C) All dancers are students
(

D) All students are dancers

If a rectangle were called a circle, a circle
a point, a point a triangle and a triangle a
square, the shape of a wheel is

(B) Circle
(D) Triangle

(A) Rectangle
(C) Point

20

48.

49.

50.

51.

530 Sercid 2.5 Dexy’ @) Iy A
Syelace

A) FETES o TEED0

"3

T wd G580

@)

(A)
(B)
(C) ey Sodies SyEs00
(D) orgocEs HOSEE SC5E0

P,Q,R, S, T e oo H5Hes es s’
BAPER T, DB BB Geo. T S0
D B00HOE" 2.5 & 8 GTTERD 23060 0.
B4 20008 gPEED BN TEBERCE0SEY).
P — S % &t Q-8 % g7 e
008" 526 $5ED0D. T DH0S° 596 SGae.
53 95075708 Dot § ASEH ?

(B) S

(D) esproren endoio

DTGE00GET ereodd. ereadotEr @i,
2 BoCad 62008 SO PONBID Eeirs

A Ry yeleialovg-uovien

%)

2POOEOE® 3)@56(3@3

@)

(A)
(B)
(C) @Bt Aogthes
(D) Johoost> i

BFBBoSTY S)BHor, Dy Do,
DocoBo B8, BEET BBOSEHD

BRIEI000D 2.5 WO 55760

(A) dgusosie  (B) H@o

(C) Qoo (D) ©S%0
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52. Manisha is eleventh from either end of a
row of girls. How many girls are there in

that row ?
(A) 19 (B) 20
(C) 21 (D) 22

53. A student who completes any graduate

studies course shall develop three of the

following four essential attributes. They are
(i) A questioning frame of mind

(if) Skills of survey techniques

(iif) Good communication skills

(iv) Sensitivity to social problems

(A) (i), (i) and (iii)  (B) (ii), (iii) and (iv)

(C) (iii), (iv) and (i) (D) (i), (iv) and (ii)

54. Who among the following distinguished

scholars is considered as the father of
communication science ?

(A) B. F. Skinner
(B) Jerome Bruner
(C) Wilbur Schramm
(D) Kurt Lewin

55. In a certain code CLOCK is KCOLC. How

is STEPS written in the same code ?
(A) SPEST (B) SPSET
(C) SPETS (D) SEPTS

56. In the sequence of numbers

5,8,18, X, 34,55, 89, ....
the value of X is

(A) 20

(B) 21
(C) 28
(D) 29

lo

21

53.

54.

55.

56.

BETOEIB. €5 5SS JoBR0E er¥ooTy
(A) 19 (B) 20

(C) 21 (D) 22

[eogaioel §°65) g 0% (8 o
308 Tl e%S oFETd” Sardoesd edHD
D08,

330w 03

25355 DB DYEAO

5000 875 (P TRV

TR 50550 56 19065 Mgaro

(i), (ii) So0030> (jii)

(ii), (iii) S0805 (iv)

(iii), (iv) So8ax> (i)
(

(
(
(
(
(
(D) (i), (iv) So6am> (ii)

g O

200 e AeRes” ETEIERS TP VBT
e 00eCs 2558 50 2

(A) 9.5 2,56

(B) 285 12736

(C) Db &S

(D) 6828

2.5 (985% §°6E° CLOCK — KCOLC wipsood
w0 §°68° STEPS o der ovieeh ¢
(A) SPEST (B) SPSET
(C) SPETS (D) SEPTS
5,8,13,X,34,55,89,... o
éogp?se) 50" X Dexsd

(A) 2

(B) 2

(C) 23

(D) 29
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57. The letters in the first set have certain
relationship. On the basis of this
relationship, make the right choice for
the second set

57.

58.

59.

60.

K0200650 Ao¢S eTTERG Boesd NG oo
ROTT JOVE WOKOd

BF:GK::LP:?
(A) JK

(B) QU

(C) vw

(D) RQ

B35 D0 wWHO Kos3 HHRD Do 3BH
hlsleinleled

(A) &G, 500

%)

(B) &, 380
(C) %), DSH
(D) 3y, &5y

o8 2088 25% eaTges NedSod
SSLOATTD, 12% w008’ eiodtpoatntD.
10% Jowgtiges Docs HFREEr wiodhg 292
008 Dok HPREET &HHBBe0D Do
205 T e Bowy

A) 300

0
6

0

98]
N
o

N
o

C

)
)
)
D)

(
(
(
(

a
o

5472 = 9, 6342 = 6, 7584 = 6 wond
9236 = ?

BF:GK::LP:?
(A) JK
(B) QU
(C) VW
(D) RQ
58. Select the pair of words which is different
from the others
(A) Hard and soft
(B) Hot and cold
(C) Come and arrive
(D) Right and wrong
59. In an examination 25% of the candidates
failed in Mathematics and 12% in English.
If 10% of the candidates failed in both the
subjects and 292 passed in both the
subjects, the total number of candidates
appeared in the examination was
(A) 300
(B) 400
(C) 460
(D) 500
60. If5472=9,6342 =6 and 7584 = 6, what is
9236 ?
(A) 2
(B) 3
C) 4
(D) 5
o
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Space for Rough Work
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Space for Rough Work
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